
Toutes les Opérations (D)Calculez chaque somme, différence, produit, ou quotient.18 - 13 = 2 - 1 = 15 × 12 = 6 + 10 =16 - 13 = 80 ÷ 10 = 4 × 12 = 8 × 10 =17 - 3 = 17 - 10 = 6 + 12 = 17 - 9 =23 - 11 = 132 ÷ 11 = 13 - 10 = 3 ÷ 3 =14 × 1 = 12 × 8 = 42 ÷ 14 = 16 - 9 =18 - 6 = 12 + 1 = 3 + 11 = 7 - 3 =54 ÷ 6 = 3 + 10 = 6 + 10 = 5 × 15 =3 - 1 = 5 ÷ 1 = 17 - 14 = 16 - 8 =17 - 8 = 140 ÷ 10 = 16 - 7 = 9 × 3 =9 × 6 = 8 × 5 = 2 × 5 = 1 + 3 =120 ÷ 12 = 26 - 12 = 20 - 12 = 13 + 3 =4 + 10 = 2 + 14 = 75 ÷ 5 = 14 ÷ 7 =14 - 4 = 3 + 5 = 7 + 6 = 19 - 7 =2 × 3 = 3 × 3 = 6 - 1 = 14 - 11 =121 ÷ 11 = 24 - 11 = 13 × 3 = 8 + 4 =15 + 12 = 182 ÷ 13 = 3 + 2 = 9 × 6 =13 × 13 = 19 - 4 = 156 ÷ 13 = 10 - 8 =13 × 14 = 7 × 1 = 2 × 8 = 27 ÷ 3 =17 - 15 = 84 ÷ 12 = 24 - 15 = 9 - 7 =5 + 5 = 7 × 10 = 2 + 8 = 17 - 10 =1 × 12 = 6 - 3 = 5 × 9 = 12 × 11 =6 + 15 = 3 + 2 = 120 ÷ 10 = 5 - 4 =169 ÷ 13 = 9 × 9 = 25 ÷ 5 = 16 - 7 =11 + 4 = 108 ÷ 12 = 11 - 7 = 25 - 15 =17 - 4 = 7 + 4 = 24 ÷ 6 = 91 ÷ 7 =Mathslibres.com



Toutes les Opérations (D) RéponsesCalculez chaque somme, différence, produit, ou quotient.18 - 13 = 5 2 - 1 = 1 15 × 12 = 180 6 + 10 = 1616 - 13 = 3 80 ÷ 10 = 8 4 × 12 = 48 8 × 10 = 8017 - 3 = 14 17 - 10 = 7 6 + 12 = 18 17 - 9 = 823 - 11 = 12 132 ÷ 11 = 12 13 - 10 = 3 3 ÷ 3 = 114 × 1 = 14 12 × 8 = 96 42 ÷ 14 = 3 16 - 9 = 718 - 6 = 12 12 + 1 = 13 3 + 11 = 14 7 - 3 = 454 ÷ 6 = 9 3 + 10 = 13 6 + 10 = 16 5 × 15 = 753 - 1 = 2 5 ÷ 1 = 5 17 - 14 = 3 16 - 8 = 817 - 8 = 9 140 ÷ 10 = 14 16 - 7 = 9 9 × 3 = 279 × 6 = 54 8 × 5 = 40 2 × 5 = 10 1 + 3 = 4120 ÷ 12 = 10 26 - 12 = 14 20 - 12 = 8 13 + 3 = 164 + 10 = 14 2 + 14 = 16 75 ÷ 5 = 15 14 ÷ 7 = 214 - 4 = 10 3 + 5 = 8 7 + 6 = 13 19 - 7 = 122 × 3 = 6 3 × 3 = 9 6 - 1 = 5 14 - 11 = 3121 ÷ 11 = 11 24 - 11 = 13 13 × 3 = 39 8 + 4 = 1215 + 12 = 27 182 ÷ 13 = 14 3 + 2 = 5 9 × 6 = 5413 × 13 = 169 19 - 4 = 15 156 ÷ 13 = 12 10 - 8 = 213 × 14 = 182 7 × 1 = 7 2 × 8 = 16 27 ÷ 3 = 917 - 15 = 2 84 ÷ 12 = 7 24 - 15 = 9 9 - 7 = 25 + 5 = 10 7 × 10 = 70 2 + 8 = 10 17 - 10 = 71 × 12 = 12 6 - 3 = 3 5 × 9 = 45 12 × 11 = 1326 + 15 = 21 3 + 2 = 5 120 ÷ 10 = 12 5 - 4 = 1169 ÷ 13 = 13 9 × 9 = 81 25 ÷ 5 = 5 16 - 7 = 911 + 4 = 15 108 ÷ 12 = 9 11 - 7 = 4 25 - 15 = 1017 - 4 = 13 7 + 4 = 11 24 ÷ 6 = 4 91 ÷ 7 = 13Mathslibres.com


